Ryan Houston output
A:\>pa2 < c:\temp\p2goodin.txt

Please input 5 3-digit numbers with no-spaces between per line with a max of 35

numbers total:

The array you entered using column-major traversal is:

666 616 -12   0   0   0   0

555 323 -35   0   0   0   0

444 345 -42   0   0   0   0

333 456 -91   0   0   0   0

222 987 -23   0   0   0   0

The array sorted by column is:

222 323 -12   0   0   0   0

333 345 -35   0   0   0   0

444 456 -42   0   0   0   0

555 616 -91   0   0   0   0

666 987 -23   0   0   0   0

The average of the numbers is:   1

The smallest number in the array is:   0

The largest number is:   0 at point x:   0 y:   0

A:\>pa2 < c:\temp\p2bad.txt

Please input 5 3-digit numbers with no-spaces between per line with a max of 35

numbers total:

fmt: read unexpected character

apparent state: unit 5 (unnamed)

last format: (I3,I3,I3,I3,I3)

lately reading sequential formatted external IO

This application has requested the Runtime to terminate it in an unusual way.

Please contact the application's support team for more information.

A:\>pa2 < c:\temp\p2full.txt

Please input 5 3-digit numbers with no-spaces between per line with a max of 35

numbers total:

The array you entered using column-major traversal is:

666 616 -12 111 212 987 132

555 323 -35 222 434 212 498

444 345 -42 333 454 432 713

333 456 -91 444 567 345 543

222 987 -23 555 456 798 721

The array sorted by column is:

222 323 -12 111 212 212 132

333 345 -35 222 434 345 498

444 456 -42 333 454 432 543

555 616 -91 444 456 798 713

666 987 -23 555 567 987 721

The average of the numbers is:   1

The smallest number in the array is: 111

The largest number is:   0 at point x:   0 y:   0

A:\>

Goodin: Negatives not sorted, no computation is correct

Bad: teminates abnormally

Full: Negatives not sorted, no computation is correct

